
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Décompose chaque nombre en observant bien l’exemple 
2  418 = (2 x 1 000) + (4 x 100) + (1x10) + 8 
 
3  372 = _____________________________________ 

7 496 = ______________________________________ 

5  863 = ______________________________________ 

6  024 = ______________________________________ 

1 205 = ______________________________________ 
 

4. Retrouve chaque nombre décomposé. 
(2x10)  +  (6x100) +  4  + (5 x 1 000) =  5  624 
 
7 + (3 x 1 000) + (5 x 10) + (4 x 100) =  _____________ 

(2 x 1 000) + ( 6 x 10) + 2 = ___________________ 

(3 x 100) + ( 7 x 10) + (4 x 1 000) = ____________ 

(5 x 10) + 8 + (3 x 1 000) = ________________ 

(5 x 100) + 3 + (1 x 1 000) = ______________ 



 

 


